HES -y, (Quirg <idley)

Part-B (General Studies) ‘ |

Gﬁ]@ﬂl’&iﬂim . 101"200_ Qrss Lo'é,]uG]usﬁb‘raseiT : 150
'.QueStlonS 2 L2100 ' Total Marks : 150

101. Who ‘was ‘the Founder and Editor of the journals Punjabee, the

Bande Mataram and the English weekly, The people?
(A) Lala Lajpat Rai '

(B) C.R. Dass

(C) B.G. Tilak

(D) . B.C. Pal

(E) Answer not known

ugpemd, G“e'i?(gg’ LOTSTD 6Temn @SpEmeTLb, &EEET GT6D gEdle ey @smpu|d
Hpeweudd Sigem uHuurdfwugrseb @EwbSauT WT? ‘
(A) QT QRIS Fm

(B) &.<=yi. srev

@) 9.6 Has |
D) 9.8. ure |

(E) Ve Qsfweiicrana

102. Which company helped Gandhi to do his legal practice in South Africa?
(A) Dada Abdulla Company |
(B) Tata and Birla Company
(C) Malabar Tea Company
(D) Surath Textile Company
(E) Answer not known .
SMHHIIg&ET @gmmnaﬁlﬂésanaﬁlda saE QIEGOTET Osmid seuns 2 gl
edwrumy Hpeuerd gl ?. _
(A) srsT SiLgGIOOT Hipieuerid
(B) wLmiim whpmid e fmeuard
(C) weurt Cs¥aa Hpeerd
®) @5 gayall Hpouand
(E) ol Gsfweiicrene
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ar wnlt of 186 as a conflict
103. Who told this statement that I'he Revolt of 1857 wa between

v ey . . Q'Ir}
civilization and barbarism

(B) Sir James

(D) Sir Lawrence

() T.R. Holmes

(C)  Sie Seeley

()  Answer not known
“1887 b pan® Yol é BrsfasSHEWw &pn&ﬁagﬁﬂb@Lb @@LG”J Y6 @wn%a
TR HHSMS FaplwieT wimi?

(&) .. Canmbev | | ~ (B) it Ggbah

©) s & (D) sir. oméred.
" (E) oo Gsfweldena

104. In 1917, Annie Besant was the President of Indian Natwnal Congress.
She presided over : session.

(A) Bombay
- (B) Calcutta

(C) Surat

(D) Lucknow

(E) Answer not known

1917-a Qs Casflw &maidl el eir gmma_rgrrlas cg{@j‘r@ﬂ@[_[&ﬁﬁn_
CombQs@ss0UL L. @jeuf — - L LSIDE s@@W Hrid .

(A) LD Ly

(B) saosssr

©) @5

(D) @&Canr

(E)  dfoL Qpflucivama
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@ Scanned with Oken Scanner



| 05.

106.

T

The Longest pe -
['he Longest poem gof Madupg:
raj -

(:\)
B)
()
(D)
(1)

WKanehi more than 700 lines wrote
Nakeerar Kanchin 700 lines wrote by

Paranjothi
[lango Adigal
Mangudi R-‘lm'ul.lmunr

Answer not known

700 aills@nd@ Gued
& Qasmair um_emrer Wglenyd HirEhd eremn B argPuicuf

(\)
(B)
(©)
(9)
(E)

The character of the courageous mother in th

BESIT

uTEpCmmd)
QetaiGar =g sa6r
LD (&g LO(HSESTTIT
aflenL Gg,r‘ﬂmaﬁ\éﬁmm

e battle field in Sangam

Literature is praised

(A)
(B)
(©)
(D)
(E)

BEIG @wé;aﬂ WS Gu rrr'réiasm,é’n.é]

(&)
(B)
(©)
(D)
(E)

Poigaiyar

Okkur Masathiyar

Palai Gowthamanar

Pénamparanar e

Answer not known
aand saTL eigssmuier Hlenaenw GumhHuwieui

QumisengwmT

qaafi prgmSEWmT
Lranard; QaemSETT
LieaTLDLI e (T

anL QAo

31 EO03GS/2022
[Turn over

G Scanned with Oken Scanner



richi was attacked by
(B) Major Banerman
(D) General Boscawan

107. The Fort Panchalam Ku
(A) dJackson
(C) General Malartic
(E) Answer not known

urEhene Gl Cam e uldler Byl 516&SD CsTOSBEUMT <2beuni,
Q) grssen (B) Cugir Guariwme
(C) Qgeryed wemigs (D) Qgenyed umavsTQeue

(B) e QsAweidena

108. Arrange it in chronological order

1. Under the leadership of EV Ramasamy, Justice party was
reorganised as ‘Dravidar Kazhagam’

2. EV Ramasamy elected as president of Justice party when he was in jail,

3. EV Ramasamy organised Dravida Nadu conference demanding
separate and independent ‘Dravida Nadu’ |

4. The Congress won the Madras Legislative Assembly election.
A 1 3 2 4 |
B 3 4 1 2
© 4 2 3 1

D 2 1 3 4

(E) Answer not known

asrrsua_nﬂsn&uutq_ uu_Lq_u_,QS]'@& ; | \o\“‘,\ ‘
1. &Gy TTWEMS  sanevanoudd : ; ¢ e o :
ammsse;uuu_l_@g ® “ bP& s8 ‘Byrefls sP&b’  erar WP

2. mCal poeng  Aeppde @ | : |
i o UE]GU T 2 . . 5
CsibO806sLL m\e\% Dobss  Garan( BHs &4 - ga@at

3.. FTGQ_] U-rrmﬂ:ﬂ'l_ﬂ .
B Ganrﬂé;mmﬁ(g}'gﬁl;a%gg@m"«mrr@ bLgdl <oidld FSHET wHmb Fef Syl

4. QLDL—U”GU FlLg .
@ 1 3 o Zﬂu Csitgana TR Ten & 4 Gleuahpg.

B 3 14 9
(@® 4 2 3 1
(D) 2 1 3 4

(E) éﬁ]@nL, Qgﬂmsﬁ]mmm
E03GS/2022
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109 Tilak of South Indig Wike
(A) Vanchinathap
(B) SUbrahmaniasiva
(C) Rajaji
(D) VO Chidambaranar
(E) Answer not known

Cpananm-OSH06H e eampsamri, o gl
(A) urErénprser

(B) sugwesilu Aeur

(C) @orgre

(I8) ou.2.. Asbugearmi

(E) &len QsMwecranay

110. The name of the Justice Party was previously called
(A) South Indian Youth Federation
(B) South Indian Liberal Association
(C) South Indian Press Reporters Association
(D) South Indian Literate Federation
(E) Answer not known

eraitm QUwfled HedWESLILILLF).

wser wsdd BHEsA
A) QsarafipHiu @eanearei FEED
(B) Gsearafipdu pe 2 fow Frisd

(C) Qseaafbiu usgiéems HlEpUTsET SRIsLD
D) Qsaralpdu Gesdlu &S ETDD

(E) ofer Qsflweilbencd
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111. Pick out correct answel

Sabha — 1884

(1)  Madras Mahajana

(i1)) South Indian People Association — 1919

(111) Non-Brahmin Manifesto — 1916

(iv) Madras Literary Society — 1830

(A) (i) only correct

(B) (iv) only correct

(C) (ii) and (1v) are correct
(D) (ii) and (iii) are correct

(E) Answer not known

gflwrer allewL_enuisd C?gr‘rﬁ@g@
— 1884 v~

(@) . wsymed waTgETEIT
i) Oser @;j,;,m éE6T FEISLD _ 1919 |
(i) GymoesrreenrGsnt GrsLand . — 1916 X 140
(v) warTev Qs FhGD - 1_830_
@) () 0o o

B) (v) v oo on

© () wbpw Gv) 5h

D) (i) wpmb (iii) &

.(E) e QsNwedena

EO03GS/2022 il : | _ i
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i is the P .
(49— remi | |
er State in human organ donation

(A) Uttar Pradegh
(B) Orisha

(¢) Tamilnadu
(D) Kerala

(E) Answer not knowp,

o L& 2 MY Temd S 4 . .
’ Brengfid Csemenwwrer OIS Qmuug Tal?
A) 25871 ACssn " ®) of
; @ =2l
(€) zLpBTEH D) ¢
ST
(E) eflen Gsflweldrana

113. The initiatives of e-Governance of Tamil Nadu is
i) Enterprise wide architecture
i) Rules, policies, standards
(iii) Training and HRD
(iv) Buffer stock operation
(A) (1) only (B) (ii) only
(C) (i), (i1) and (111) (D) (ii) and (iv) only

(E) Answer not known

Qetreu(meuaTeuHmIET SO PETE LBl — BEHDLD wsmwier Qewour®

2 GD-
1) Hpeuend sTibs s lq LSS
(1) NHyerpsear. Qanarassdr, STUUGRSSISVEET
(111) ulGHS wHHID pafigauar Gobur®
(iv) ouf @muys QeraTas

A) () wied
©) @), (i) wopw (i)
(E) Qe Ggrﬂusﬂ@ww

B) (1) vi@pw
D) (1) womb (1v) L EW
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114. River Sanctuary in Tamil.nzlfh‘ 'lfer oo
(A) Kalakad Mu ndanthural Tléerve |
(B) Sathyamangalam Tige¥ Re?

(©) Mudumalai Elephant Reserve

(D) Vellode Bird Sanctuary

(E) Answelj not knovjm

: D’ 6Tét DYPESEL] '
SBOPBTL g6 ‘@ miseflar syaTTe WD CTe] SHPRESULO g

A) swss1E Qs gioD Yallser a=rjsuvrrrsuu_1m£6
B) ssHu wrsWDL Laser sramTOWD [ &)

| O waveoe urearsdr acgswrrrsumm (Q]E\N\“b
(D) Qmm@mrr@ LIMEn 6 &6 &U@anu_lw o 8)

(E) o9 Qg fwellerana

- 115. The main cause for Landslides in Nilgiris District is
| (A) Drought conditions

(B) Heavy_ rain )

(C) Inflow of tourists

(D) Smart city projéct

(E). Answef not known -

Bl Lomeul L gdle ﬁ]éue?&rﬂa_; THLL & SMTERTLO TS @@uu@ il | - ééb@')tb.

B) <fs wey

(€)  spporefar s
D) - Apiy pogs g
(E) oen LT P

EO3GS/2022 .
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116. Next term in _1_’ 3 5 -9
10' 28710 gyreas
(A) o7 ]
_ B) —
9 26
(C) 28 11
28 11
D) 56
(B) Answer notknown - \{
L88 X 1 | |
23 ,5 ,1 vis B0 @l@gg QQJDL{ |
L | |
@& = S o
B) —
7 ® o5
9
& = 11
(C) 28 D) Iz
(E) oo Qsfucioome
117. Tx5x3x2+3 is a prime or composite number or integer?
(A) Composite number
(B) Prime number
(C) Whole number
(D) Integer
(E) Answer not known
5x3x2+3 eaaug 206 L GraRTamm? LS CTERTEIIT? (5 (P(PEUT?
(&) v T 3g v,
(B) wuasm e ‘{g'
g V 1\
(D) @655666'” % =
(E) e Qgrﬂma&'lmw .
i 37 E03GS/2022
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118. How many great circles ¢

EO03GS/2022 -

h a sphere have?

(A) Two

(B) Three

(C) Ten

(D) Infinitely many

(E) Answer not known
6T o_aTeTar? O~

8@ Carargdler argganar BLALG Gm;ugj&q, 9
. : ' 2\¢ S -
(&) @re@ H L. '2%_"\'\"‘
®) A
(Ll 3
©) usa

(D) erawefleL s

E) oo dsfucdaoo

. In a_certaiﬁ code “MEDICINE” is coded as “EOJDJEFM”, then how is
“COMPUTER” written in the same code?

(A) CMNQTUDR (B) CNPRVUFQ
(C) RNVFTUDQ - (D) RFUVQNPC
(E) Answer not known |

26 EANILL EHSH Qumile “MEDICINE” aenp euniigens “EOJDJEFM

auTiigessanar GmHluse TS| TG GranTs, - . _ _

(A) CMNQTUDR (B) CNPRVUFQ

(C) RNVFTUDQ _ () RFUVQNPC
(E) ofeni @gﬂyeﬁ]@mm

"
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190. The length, breadth
volume is 35840 cms ¢

191.

Ll

(A)
®
(E)

an : ) :
h . he.lght of a cuboid are in the ratio 7:5:2. Its
en height is

8 cm .
¥
24 ecm (B) 16 cm 2-9)’

32 cm
Answer not known @

@ saé Cediessde : |
S8l Bam, Siseib wHpb ewrsder el&sn 7:5:2 vHpL &1

oara] 35840 Qe.183 6

(A)
(©)
(E)

The volume of a solid right circular cone is 4923 cu.

24 cm, then find the radius of the cone. (;r = —7—)

(A)
(B)
(©)
(D)
(E)

- om Hemn Cpials
94 Qs.8., crafl@ SiGsabIen TS

(&)
(B)
©
D)
(E)

D 2 wpgHer ienay

8 Q&.185. n?
(B) 16 Qs.15. 35 W
24 Qa.i5. <&
alerL QgNweddea Ww
%%
@V ﬁk

50
l‘:ko < )
cm. If its height 1s
22

14 cm '
Lol
15 cm '
1ot
16 cm
17 cm

Answer not known
galbIGelT SeT HeT6Y 4928 5.Q5.18. LHMID SFET 2 WID

W& ETERTS. [n‘ = %-Z—J Jﬁm‘lk = 4928
3

Y
L ,.,{Q*x M:Qﬁ Q—g

14 Gs.i5. g 3 )?—*3"-1"‘ eon e 5
15 Qg.i5. - sy R YT o it 0]
. & LS ‘ ﬁ%%w i : o %
16 Gl&..0. 2 ® ' |
17 Qs.18 ¢ Qﬂ"”’s i b err
g.15. 2 21t 15
: 2% e
e Qflweildae /Q/HT{'
39 qy ® E03GS/2022
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alf yearly find the compound 1n1:'aq[~(.:.stf

122. If the interest is compounded h
L years 12
Rs. 5,000 at 20% p.a. for 13 Y& S
(A) Rs. 6,655 (B) Rs. 1,655 '
(C) Rs. 2,655 (D) R.S'I 1,665
(E) Answer not‘known - ‘
0
Sl () Qully TGS : 11 S @THEEHES SIFD @ 5,000, 20% <erh el ol
S@TuUTETRES GE Wwop s@Ed-LLGADE A B
) T
A)  @. 6,655 @) © 1,655 soort ko g
€ m. 2,655 D) @ 1,665 e i
(E) elerr Osflweildvma - . S‘ad\*%a | \57‘3r
v CAx fot \tS¢C
Wb —mm
123. A sum at simple interest of 13% % per annum amounts to Rs. 3s080i11
4 yr. Find the Principal. |
(A) Rs. 2,000
(B) Rs. 1,850
(C) Rs. 1,650
(D) Rs. 1,550
(E) Answer not known
2@ (DS 13/% aigLd .E_F)Gnﬂ GLIL“}-5@ 4 %m@a;aﬂm oL s@b Qorss @g,rrm&
3,080 el _ _
(i) 26;0; TOMRIEE gmerrixy o EN o
- 4 . Zmee tp 30
ol S
B) . 1,850 . .
©) . 1,650 =
D) . 1,550
(E) oL Asfuciodme
E03GS/2022 i I::

v
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124. Out of 50 students in class, 30 are boys, then the ratio of number of
boys to number of giylg .

(a) 2:3 | B) 2:5

€ 5:3 (D) 3:2

(E) Answer not known

g® @GS 2dar 50 wramaisaie 30 Gui wramauiser aafld wraTa LHYID
wrenails@5éE Qe Cuwmar s>

A) 2:3 (B) 2:5
(C) 5:3 ®) 3:2
(E) &fevL Qsflwueldena

TRk

195. Given that HCF(X,Y) =4 and LCM(X,Y)=9696, If X =96, Find ¥

A) 101
(B) 404
€) 9212
D) 24

(E) Answer not known

XY aanp @ aramsaiien S0ura. (X,Y)=4 vppo 8.0umwn. (X,Y)=9696,

X =96 erafl@, Y @ wfliamu &S | el
. o\{,
(A) 101 Lot o fgf
. e
(B) 404 L\\M A3\ LPL(L }3{/ o @/CZE
A\ !
© sz \WEGTP . g BT
o T C e 11
o
= U ob | E03GS/2022
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126.

EO3GS/2022 ' o 49

127. 1

.. 2,100 to Rs. 2,520. Percentage 1n
%

\ . s 'y ]R‘-n
Cost of dress increases fron

i price is
_ B) 18
@) 15 (B)

: 25
() 20 (D)

(E) Answer not known
Qi @J,mumm o 5. 2,100 ABHS B 2, 520 s éi,éf»]airﬂg,,srrd) B
FSGIBD . | -

@A) 15 B) 18 2o

@ 20 TN D) 25 )
| i : oo 7‘4'7"2/5')0

(E) Gﬁ\)l_ Qg;rﬂu.n.aﬂwcmw o _ [09 T
{20

2100 = log
!

9 . _ _
If 16 =% of a number is 40 then the number is

(A) 220
(B) 240

(©) 420
(D) 520
| (E) Answer not known

ST T
06 garie 165% aag 40 aofie oips e wng?

@) 220 B | €2 y (o0 = Mo o |
Y g : r)
® 2420 Sk S RS
(C) 420 S et ors??
- i @Pyﬂ\km' 7
(E) oo QzMweilerene |
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128. Write 0.07% as a fraction

129.

T

7
(A) 10

ry

7
©) T

(E) Answer not known

0.07% & Qerarons LOTHE

7
(A) T

7

()] 00

(E) oo QsMwefdena

Acidity if any in the urathra after pa

secretion of

(A) Prostate Gland
(B) Perinaeal Gland
(C) Rectal Gland

(D) Cowper’s Gland
(E) Answer not known

(B)

D)

(B)

D)

10000

1000

10000

1000

ssage of urine 1s neutralized by the

Apfr sfss e ApSi@pmi® ghuBD dlwssaranmul pHBlaILHSSID
oy srssLLOSDS.

SrULY
(A) yCrrevGLL &I
(B) Qufleflwe &UL'J!S]
(C) peEE® T

() Qaeruiav gl

(E) ol QpRwciiomd®
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h
ol Lemon grass;
Y. What ws the botanteal name ol 1 N

NN
G Cynodon dactylon
(D) Netari itadien
W Arundo donax
() Cympopogon eitratus

() Answer not known

A A T )
i Ldald gragaiud @l eretar

) swl@mead LSl
(B)  Sediiwn @ccadldsn

() @G Cunauaday

(B) QaCunGursnar AeGrta

() oo Qefluafd@a

131. Bordeaux mixture contains
() CuSO04+ lime
(B)  ZnSO,4+ lime
(C) HgCl + lime
(D) KaCOs+ lime

(E)  Answer not known

Cumingwnasy sy Taugy SLb.
(&) CuSO,+ SRR
(B) ZnSO,+ SR RTMhYY
(C) HgCl + SRIQUITDY
(D) KaCOs+ SRUIbL

(E) eE\cm.. Qﬁ'ﬂmm‘ﬂli)mm

EO3GS/2022 14

(¥ Scanned with Oken Scanner



5, The force of attractiop
132. jistance apart ShOUld th

133.

T

betWEEn two charges at distance ‘d’ is ‘F’. What

e . : )
the force becomes 16F? S€ charges be kept in the same medium, so that

”

@2 ® <
0 % d
© 7 | ®) 7

(E) Answer not known

@U@W@ Lﬂdﬂ@ql._,l_maaﬂm Qe riuc QLUQuwirEs ‘d <5 @msEwiung,
?grlzf s I o 2dreng). seuisd eflens L6F <& wrp, @LUGUWITES

d
A — d

a d
v 7

(E) oflen Qsflwelcorena

The French Drama, “Happening” (1960) about illegal abortion won the
Golden Lion Award for the Best Film at Film Festival.

(A) Paris (B) . Venice
(C) Geneva _(D) Vienna
(E) Answer not known '

aptiuafi, (1960) s eCTTs SGEE@VULL updlu r@rers BIL&D, Spbs
SegriuLgdhsmen ‘CamedL6im 03'_1-1637 G devpiin eflpmeied

QULPRISLILIL L G-
(A)  urfev (B Qauafiav
(C) anﬂsurr (D) ellwigentir
(E) e Qg,rﬂuJaSlemG)
A g  E03GS/2022
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Yay' 1 arved on
. .» Day’ 1s observe
- : iQaoin] JUSHICE FEY
RE Tt Nadu, 'Socia | |
134, In Tamil Nac p— November
(A) 17 October | P
(D) 18th Augus
() 17% September
(E)  Answer not known
.@wﬂgauu@m Slad

(B) peubui 18
D) <ysav@ 18

slpssde ‘spos F& prar
() «&CGumuir 17

(® QsuLwvur 17

(E) Qe Qsfluidae

135. Which of the following is the newly identified butterfly species in Dzongu
of North Sikkim during December 20217 |

(4)  Chocolate bordered Flutter Butterfly
(B) Common Lime Butterfly

(C) Blue Pancy Butterfly

(D) Spot Swordtail Butterfly

(E) Answer not known

@a@@m 8l il Asdib mnﬁ]@gg]@pmm g Gamriy
mrrg,e_‘,.é]sb.asa‘argﬁlu_luur_t_ UL by &) @arin

S GT@‘”‘D Qrsda g FOLIT 2021
(A) srsCar g Qnéens UL mby g8 |

B) aabizems Y UL by 44)

@) fo assyer UL mbys8)

D) spdaumer <S4l UMby e

(B) e Qsfudddmg

E03G$l2022 "
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+26. The hlghest percent

T

~ - wamm W

state/union territory
(A) Lakshadweep
(B) Meghalaya

(C) Mizoram

(D) Nagaland

(E) Answer not known

age of scheduled tribe population is found in the

LW UPEIGRUIar &S <ofls F5ei5580. sramIUGLD mﬁﬁlmm/%@ﬂmw

QrGssd &7 |

(A) U es5e &6

(B) Gusareowrm
(C) WAOGsmyD
o
S
(®) g;rrasrra}rr,lﬁgl
(E) fer Qpfueioa®

47

E03GS/2022
[Turn over

(} Scanned with Oken Scanner



ot a precautionary measure thai
vlt.'

. g 18 N
137. Which one of the Inllnwm;;
should take before Tsunamt:

arest shelter
(A) Find a safe route t0 nearest she
Sve ldings
(B) Considering alternative building
(C) Having an emergency kit |
(D) Those residing in ground floor should remain there

(E) Answer not known
meT &gl sermd) - eumeUSHE (WS BTLD Gm@@an%

&G Qsr@ésuul (Harereud " e Gl

Couakriqws peir eréeféens HLG
(A)  <eimdaerer ungsTILTET gm@ﬂugﬁm@'a@]wu SerLHlFe |
(B) wrns sl gL sos smsde Camerard

C)  wasy woausal@uly mmg‘é,l@gg,d)

®) sey sesded auiliueuiiasar é{rﬂr@as@u_u Qw550

(E) oL Qsfwelodama '

138. Gilgit tunnel is formed by the action of which of the following rivers?

(A) Ganges

(B) Indus

(C) Brahmaputra
(D) Narmada

_ (E) Answer not known

SlDEIL wews GaLay Yereu(mid mdaefle reupdler Qewicaermed 2 (HeUTSSLILLLE

(A) snos

(B)  Avg

(C) Wy me;sl,é_ﬂ T
W) piwsr

n

EO03GS/2022 48
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) l{h:n'usthi script derive
118 "

e d from the

) Brahmi
(B) Semitic
©) Roman
(D) Aram aie

(£) Answer not known

sGrrayd TWES Araid The g o maUTED
&) QLo -

(B) Qedllig&

(C) Qe

(D) Tl |

() efeL Qzfwelcrene

140. When did Malayalam became the separate 'lalllguage?

(A) 6t Century

(B) 11th Century

(C) 12t Century

(D) 9t Century

(E) Answer not known

b safl Quonuns LIBILS!?

ariGug wenWT
A) 6w propTed
B) 11 ey gropre®
) 12 <y propre®
D) 9 <o prHpraTd
(E) oferr Qsfwciio@®
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141. Which one of the following wWas not' correct about th well kll

musician of Akbar’s court?

(A) Tansen

(B)  Sur Dass

(C) Ram Dass

(D) Tarachand

(E) Answer not known

EpssamLapmier sUTs HEEEDHS ‘@m&uum_‘ssr? LHHL SUDTET QETD ey

(A) srenQser
B) sismev
(C©) @ymbsmev
- () smyrens
(E) sflerL QsNwelldee

142. The first architectural construction made by Qutb-ud-Din-Aibak was the

(A) Qutb Minar
(B) Arhai-Din-Ka-Jhompra
(0 Quwwat-ul-Islam mosque
(D) Jamaat Khana Masjid
(E) Answer not known

PSP

@Suglan guESTDH sl 2 (FeumdaiL L EI'_I.q_L.LDITGBTQj
(A). GFILOermi

B) éﬂﬁ&nﬁl~1q,eﬁr~5n—8gnmgn

(@) Baurs 2o Gevemd &S

(D) gwrs sremn D6V

(B) e Gsfwefdena

"
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T

The Durgabai

< hich of the following Organisations?
ations!

A) Women De{felopment Chipaniiiing
(B) Voluntary Organisations

(C) Central Social Welfaye Board

(D) State Social Welfaye Board

(E) Answer not known

Desh :
Muk Award for women Development is given to

Gué’m&s‘n Guburiypharer gitsrumnl Csesaps eAHs) Qereu(Hd THS SenwUlbHE

apisluGEDg ?

(A) Quairser Gooum @bl
(B) sgenanmireu sianwoLy

(€) m,&;é]u_l Ef-yjéi po eumflwid

D) wrhe sups b eumAlwLd

(E) ofer Qsflweidame

51
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n constitution says that, “The Supreme Court jg

144. Which Article of India o

bound to give advice to the President of India

(A) Art. 143
(B) Art. 144
(C) Art. 145
(D) Art. 146
(E) Answer not known

o o . . - : Coorgemer QUL
2 gehdoepld  @QhHu  GSYWIES aaeitd 2 ! .
sLeLUUL Petarg” @pdwu.  Srflueewvuler  abs - a3TSY Qs®ans

GINRIOEETe

(8) ayr55 143

(B)  asrsg 144

©) asrse 145

(D)  eagr58 146

(E) el GsMweloana

145. The Union List consists of

(A) 97 subjects

(B) 61 subjects

(C) 66 subjects

(D) 70 subjects

(E) Answer not known
LSS UL iqwieh 2 eTerL_&dlwig
A) 97 Qamuser

(B) 61 Qamuser

(@) 66 Qamser

(D) 70 Qamiser

(E) oforr Qaflucidme
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The time taken for
of India the

A) 2 Years, 11 monthg 1
(B) 2 Years, 9 monthsg ;Bd
(C) 2 Years, 7 monthg i ZYS
(D) 2 Years, 5 monthg ” ays
E) Answ » <0 days
( er not known
BEW STl
@rﬂ . Wlieny 9—({561”755 QJ@UG)_]&';@@ ﬁ®§§]5@5ﬁg§5ﬂ_ STeuLb
? mer
(B) 2 em®ser, 9 wgn, 8 Birer
(C) 2 ambhsaer, 7 o, 18 prdr
(D) 2 yembadr, 5 wrgw, 20 e

146 Co
nst; :
ituent Assembly to finalize the Constitution

8 dige

(E) el Gsflweildena

Who was the Chairman of the Drafting Committee of Indian

Constitution?

(A) Dr. B.R. Ambedkar
(B) Rajendra Prasad
C) J awaharlal Nehru
(D) None of the above

147.

(E) Answer not known
@ndw é{mﬂu_lsumwﬁq cuanTeyd Gpeslen gE@all Wi?

(4) LméL. B.R. sidGuss
(B) @m@g‘@;ﬁg Qrend |
(C) sgeuaniaTe €510
D) CopmPuepd o IO
E) o Qpfuedoo®
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148. In the producti

jeved?
ocess which cost cannot be retrie
ion pr :

(A) Real cost

(B) Opportunity cost
(C) Sunk cost

(D) Implicit cost

()

Answer not known

2 Husd Qe Cuig ehs devamal Smbuup apigwrg?

(A)
(B)
(@)

(D)
(E)

2 amen CFway
G eumitiy Qeevay
PR Ceway

o arenmiGg Ceway

allen Qsflweiioena

149. Find out which pair is not correct?

A)
(B)
(C)
(D)
(E)

RBI — Banker’s Bank

FCI — Financial Assistance to Commercial Institutions
IDBI — Industrial Finance

EXIM Bank — Financing for Export and Import

Answer not known

ThHS Ggmq_ SUDTNF erar &@T@&Iq&g,

(A)
(B)
©)
(D)
(E)

E03GS/2022

RBI - asifsefier cumsg

FCI - aexfis Boeuermisepss B 2 sefl
IDBI - Qsrge g8 |

oL Asfwuaioama _
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which of the l'nllowing 18/n
re the advantage/s of goods and service tax?

: Removing cag :
(i) B cascading
(ii) Uniform taxation of goods » l .
- nda services
iii) Tax decisions are t¢ :
aken jointly by Centre and State

(A) (@) and (1) only
®) () and i) only
(© (i) and (iii) only
D) @), G and (i)

(E) Answer not known

Spseemmeuppier UeTLmiGdr  pgih  ueeflse cuflude ;r;ehemm/peinsmm&dr
G@J/U.Jrrsmu?

() <AG&S e Hevereysmer S5&EDS
(i) Qum(eTaer LODID uels@ns@ @CT wirdAwrer aul

(i) wsHw w.rrﬁ]eurésasdr @ @anbe) auffl iqoyse@er CEEIE

@) (@) wppo (i) w=E®
B) () wpped (iii) wLEW
€ (i) wppd (1) )
®) (), (i) wpgd (i)

(E) ofleni QpAlueiva®
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introduced separate electorates for Muslimg,

(B) 1935
(D) 1909

151. The Act of _
(A 1919
(C) 1947
(E) Answer not known
wan® sLb Goeniucsasar sal ATHHHE5EDS Dfps,

@&u‘.;ggj.
(A) 1919 (B) 1935
(C) 1947 () 1909

(E) efe Qsflueddrena

152. Wherefrom the Indian National Army started its March towards Delh1

in September 1943?

(A) at the victory tower of Nepal

(B) at the tomb of Bahadur Shah IT =
(C) at the ceremonial parade grouﬁd
(D) at the seashore of Indiaﬁ ocean

(E) Answer not known

Qeuibur 19436, @llj‘;‘éﬂu.l Gg,#lu_: @Un@mm eTEId) (5 55 saig  @LG
Sienfleug e Sleuriflwug ?

(A)  Cpuuralles 2 rar Qaupg Camyzsde

B) @remrimb Lagniragmeiler adamenmuler oiméed
©) @reasor ciGsay L9HA W ETESHN b3,
(D) 2w QU([T;TBJGSL_GISIGUT 5603@5]515}@5@

(E) oflenL Gﬁ'ﬂmaﬁlmmm
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)
Ve i popadarly called ae .
\ I \ \l uR th‘g “\'\!]\l\t‘t from tho Hnll”l:‘
VO Raan

R VO Chirdambavag,

A&

A\

\ “..\ SENTR “ *
O Pervar KV, R:uu:mmuv
) Rharathay

A0 Answer not known

.‘“-\\'f\\: SO o) R i . w - ‘
wO NN AN (RS ““'""‘\"3‘ .\‘.ﬁh’t‘&‘{!ﬂ“\\n hl&‘nu \;nml‘“ TS »WW‘LQ‘Q"‘M et et Wiy

D) e |

) @er Qeliualda

Which act was passed abrogating the right of free speech and criticism?
) The Criminal Law

(B)  National Act of 1908

() Indian Press Act of 1910

(D) Press Act of 1 906

(£)  Answer not known
Guési@uauwiugbd, &Qﬁ{hgjjlﬂﬂ)lmmll.m]lb ufltiugparsGar HepGaboliut. sl
G‘g\j o
) Qfdard std
(B) 1908 wyid & Cpdlw srLtb
@) 1910 b @ @bduw ugdids srLib
‘ o | gD
D) 1906 woyd pen® Up@Ald@s 7=

(£) for Qgfluaida®
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area was called as

; \gricultural
155. During the Sangam period the Agri ‘

(A)  Kurinji

(B) Mullai

(C) Marudam

(D) Neidal

(E) Answer not known

s  srosde elleusm ﬁcur&l&semm-&eherﬂu'_L Bleoduriy da
SADPESLILILL G

A)  ©hed

(B) (peLENE

© wesod

(D) Qpuiged

(E) efen G‘&,Iﬂu_faﬁ]é"o@éo _

156. Pallavan Kovil plates explains about
(A) Svetambara Jaina order
(B) Digambara Jaina order
(C) Buddhist principles -
(D). Geneology of the Pallavas
(E) Answer not known ;
LI QG 6t Camedled s5&[H\&6T TengLls LH] aaxguaﬂéiﬂmm?v
(A) &Gmg,t.bujrr &m-mrr:surﬂem&
(B) dswupr swenr euflens
(C) uss Qsrerersaser
) uvédae Dishseiiar oy euflens

(E) oL Asilucdome

E03GS/2022 , . SR N :

@ Scanned with Oken Scanner



_ wame the following v
57 S Work thyg

A)
(B)
(€)
D)
(E)

. W - i .
Arivamayaj as not written by C.N. Annadurai

Or iravu
Sorka Vasal
Ananda Bodhinj

Answer not known

S psHETLUDMIET &.eren =
& .
g HAMEE DL GPsLILLTS UL LU Sal.

(A)
(B)

- (€)

158.

rr

(I7)
(E)

<MW wrenu

of @rey

Q&niés eunaed
ehs Gurdaf
aflen Gsflweldenq

The ‘Chakravardhini’ paper was devoted mainly to the elevation: of
Indian women by

(A)
(B)
(©)
(D)
(E)

Bharathiyar

E.V. Ramasamy
C.N. Annadurai
M. Karunanidhi

Answer not known

Qdw Quersaflen @@Gwﬂmg,ﬁg‘)am ‘ssarauisdefl eramm mreflsp
<& yueissiuC LGl

(&)
(B)
(©)
(D)

(E) -

umgdlwmr

.Cau. gmosml
&.eTen. SMERTTHIDT
eTib. SmHMTHS
Mer Qg Mwcilrena
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159. Pickout correct statement ;
()  Kural stresses the importance of knowledge and education

(1)

(iii) Kural stresses the significance of art and dance

Kural stresses the importance of religion

(iv) Kural stresses the importahce of truth and modesty

’

(A) Both (i) and (ii)
(B) Both (ii) and (iii)
(©) - Both (i) and (iv)
| (D) Bot‘h_(iﬁ) and (iv)
| (E) Answer not known
slurenes Gaia Qeirs.
1) SHeseer sflamanb méﬁl?wmm m&wé@«ﬂw -
(1) @par w,sﬁsﬂm @ﬁﬁwwwwﬁ &mﬂégﬁmw |
(111) @sﬂ)m S @ LDJDLDJLD mmﬁw @&ﬁwwm@% @Jaﬂww@eﬁm@ %
(iv) @per wnwmwmwm &l—wméwm Gueﬂuwéw‘ﬂm@/ L
Q) () wppid (i) ydwen -
(Bj (11) LoHmID .(iii) gfwer
(@ () wppo (iv) eyBuer
D) (i) wogs (v) eyduer
B oL Asfuciomns
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T

(A
(B)
()
(D)
(1)

People of Ky rinji
People of Mullai
People of Neidy]
People of 'I\fIz,u'uthum

Answer not knowp

QU(HETE GTETD &L_6|ear S
a6

(A)
(B)
(©)
D)
(E)

@D Hle béser
pome Hle Log;a;m
Opuiised Hleo wiser
s Hle mé;a;eh

eflenL QzfMweldama

. Name the first lady arrested in connection with Salt Satyagraha and the

President of the Tamilnadu Provincial Congress Committee.

(A)

(B)
©)

D

(E)

Sarojini

s’

Rukmani Lakshmipathy
Ambujammal '
Parvathi Devi

Answer not known
!

ff LHDD e L &‘é,‘e_f,]u_lrrélff&gmg,u_gtb'

sOPETH WrEled STRISIED S5 QLamwen AUL®TS GHLGES.

T0ss psd @&3l

(A)
(B)
©)
(D)
(E)

QewLiulL (PS®

sGrmelef |
(HdLnamnf] waigSlILg
<S|LDL{gQLDLOMET |
umieus) Gzell
e Qs
61 _ E03GS/2022
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162. district was the
according to TN Human Deve
(A) Kancheepuram
(C) Coimbatore
(E) Answer not known

lopment Report (2013-14)

(B) Chennai
(D) Dharmapurl .

sOPETH weflgs Gubur () Siblée

aumew GOk
eSleTri &S mg). -

A) srégAyrod (B) Qeerenar

(C) Gsmwbysgni W) g,r'r@l_]rﬂ |
(E) &9er Qsfweldene '

highest multi dimensional pover y ind%

ss 2013-14 b PTG, LIPS )y,
praulLsSld e 2AJE  GHUE Qug,

163. private sector industry received Tamilnadu Governmen
Award for providing maximum job opportunities to differently able

persons during 2019.

(A) Sakthi Masala Pvt Ltd, Erode
‘(B) Everest Stabilisers (P) Ltd, Chennai
(C) SKM Animal - Feeds Ltd, Erode
(D) Vedanta Sterlite Industry, Thoothuklidi |
(E) AnsWer not known | |
v g ris Genpam I UG suntgPuamuse
(4) &68l werer (&) Hlmieuantb, FGrr@
(B)
- (©)

ereullyens ev@ L Aeneeivsit (&) ., Qzerenar
T, Ga.oid. @ieflioed - (§1° ey Ameuand, FCrr(
D) Caugrsgm VGl ieneL Qs mflev, gnggé@q .

(E)  eflanr GsMwefdrena "
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According to censyg 9

107 i rural areas in the oqy,.) 1

OUngy aAmil Nadu'’s share in total population living

2 Y wag
(A) 6.5 percent
(B) 5.5 percent

(C) 4.5 percent
(D) 3.5 percent

(E) Answer not known
pésL ABTME SamEQs()
adlé@D &5 Agrensq
(A) 65556850
(C) 4.5 sgalsn
(E) ofler Gsflucioams

';_JDL-| 20.11—531 Ulg, ‘@E‘meﬁm par(yg | HmoLiL|m u@ﬂtﬁd)
5@5}@”!-'_1:1.6&1 UMb WIng)?

(B) 5.5 856510
(D) 3.5 szaipnd

165. Assertion  [A] : Infant mortality has shown a significant decline in
India :
Reason ~ [R] : An improvement of medical facilities and better

. ' care reduce the death rate.
(A) [A] is True, but [R] is False-
(B) [A] is False, but [R] is True |
(C) Both [A] and [R] are true and [R] is the correct explanation of [A]
(D) Both [A] and [R] are true, but [R] is not the correct explanation of [A]
(E) Answer not known | |
[A] = ‘@‘ﬁ_ﬁgmn@ﬂm Gwhas = @ouy - &l&sb Qu(mLeTey

5033 e DIBETITS |
. . prssel sdeer SASEHGs®, Aops saually duamal
PR - B @%ﬁﬁ] NEss05 G@DEEDI.

(A) [A] &fl, ermed [R] seum

B) [A] seum, yparmed [R] Erﬂ |

(@) [A] wHmDd [R] @D o GITENLD,
LS oS sraow, <pamed [R] earug [A] @ sflurar

D) [A] wpge [R] @b = ,

leTEsD 2L

- () Qe @g,ﬁ)u.}@ﬂsbmw

[R] ereiug [A] 5@ sflurer clletésd

E03GS/2022
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covered with aggregate bank loang )

akh SHGs  were
L.al h o WL 1 at M{l]’.’Ch 2013

166. 13.89
Crore in Tamil Nadu, as on 31

Re.,

(A Rs. 26,6456 Crore
(B)  Rs. 38,748 Crore
(C) Rs. 18,245 Crore
(D) Rs. 17,648 Crore

(E) Answer not known | |

31 wmé 20136 g,uSlgp(rbm_Lq_Gu o erer 13.89 eLeb &W 2 gel @@&&@3‘6
Camgwm@Lb.

uPEISLLLL Cbrgs sLer Qsras .
(&) 5. 26,645 Camg

(B) 5. 38,748 Gam

©) . 18,245 Gomy

D) 5. 17,648 Gamg

(B) &l Qsfualdeme

167. In 2011-2014, the total length of railway lines in Tamilnadu was

Km.
(4) 267143Kms - (B) 376162 Kms.
(C) 4,861,34 Kms | (D) 8,963,44 Kms
(E) Ans_wer not known | -
| gg;;;m aléd g,Lﬁllap‘rj)rrL_Lq.suT @@ag ureguiler ieray .ég},lsgrm
A) 26714345 (B 3,76i;62 .5,
(C) 4,861,34 8.5, (D) 8,963,44 4.5,

(E) eflerc Qpflwefarena
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"\'t\ﬂ }"1 - 1. 1'12 “..:3 a
(1l nd F.‘\ = R

na + F,_, then Fjas

(V) » -

. (B) &
c) 8
‘ D) 11
B Answer not knowp
2 =15 =3 whow - o U
- ) et Fn Fn-l + Fn_-_: cafled }‘T-, RS £z - _ 3
) 3 ) x f'; ) L\*q’ -
" (B 5 AN e
_-\) Q F & 1:-.3 ) .-'\
&7 (®) 11 RNt

u

E) Sou QAsfulda T<?

Two dice are numbered 1, 2, 3, 4, 5, 6 and 1, 1, 2, 2, 3, 3 pispective I
They are rolled and the sum of the numbers on them 1s noted. Find the
probability of getting sum 4.

: 4
@) 36 © 36

- ' 6

) s
©) 36 ) 36

(E) Answer not known

9. 3, 4, 5, 6 e WLHADTIH® uaLW

SIS SHEsuL BETaTar. ADQ Q@b
Auysaiiar sbs 4 Aeruugpsrear

Qrean® useL &6l gardle 1,
11, 2 2, 3 3 cemd @& O

epriou@n Curg A@LEGL = Cd thd ) (12D (WD (1,9

rr

fapssamal &N@T- @I,\ (2 ) @1 » ()¢ 2:9(‘%0

(B) = [3n) (3,0) (33D (33D (3,2) (39

3
@ G0 O ) DR G g

_ ' ® 2 (sHEDED 5D DG D
(C) % ' 36 (@ (6D (69062 ()3 (6,3)
E Qaflwueioand® (@_ o
E) e Gsflw ) o e
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170. A works 3 times @ ' :
h taken by B. Ifind the time

171.

and is able to complete a task in 24 dayg

g fast as B _
in which they can completg

less than the days
the work together.

(B) 27 days

(1) 36 days
(D) 9 days

() 18 days
(E) Answer not known

Qb 3 WLEEG Ceusions e Caumaew 6F0Z) (plg L,

A et B g sty
GGG (HMDEUTE

SQUTTD SpsL Lafleaw B a(ss16 Qenar. Crrsoms il 24 _ :
P88 wwss wudpgy. QoG Gsiby b Gmmw@bﬂ@@ﬁﬁ 2D
Crréassd srams. | | g% | "

(A) 36 priaer (B) 27 prser . ir

(@) 18 priser (D) 9 a6

(E) Qe Qsflusideae

Perimeter of a triangular plot is 60m. Find the area of the plot if the
sides are in the ratio 5:12:13 ' _ : '

A) 130 m®
B) 120 m?
(C) 110 m?
(D) 100 m*

(E) Answer not known

wsGstan augedarar waaudar sppare; 60 5. g Lssmss 5:12:13 e
Néssdd o ererar arafledr b waaMdlear UTLILTMES STeiTs. ; ‘

(A) 1305 | | . e, |
®) 1205 | o A
(©) 1108 ' | o .

: p . B E 8N b
@) 00 5 "L"’%—— = "o b
(E) @‘"L GAgsMweldene | lo 4 24 o L

66 | o
(-9 (519 (s D

cCx2r®
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There are two cone
radius and height?

@A 1:1

B) 1:2

€ 2:1

M) 1:3 |
(E) Answer not known,

72 S With equa] volumes. What will be the ratio of their

Gh'LD 5Gfﬂ : - - . i .

;@%%”JGUEEQT a?é};gﬂ SHTaYsET so  arafler SeupBlen D mig)‘m %uiqf
T, Nz

]. : ]. » ' o< ‘1\'}&\ ' 3
(A) | )'3: ‘\d n-., ‘J)"
® 1:2 | e _
(C) 2:1 },‘ff | yart
(D) 1:3 5 Wt e

grawt>

(E) e GQsfluclcrenan Y ¥ _

173. The total surface area of a cone of radius 7 cm is 704 cm2, then slant
height of cone 1s

o o
(A) 20cm 3 y L Q0
a * ’[ \
(C) 28 cm . | | X &f?
(D) 30 cm - |
(E) Answer not known
7 Q&.5. <prperer @ gabldeér QTss LyUL6Te, 704 Qs.18° aafed &rilﬁu_lmb kb
- ' _ F = .’
(A) 20 Qes.b. ‘ﬂ‘(gf}t = "; 2 -%ﬁi 5!_}__11
N *
(B) 25 @s.5. L -
(C) 28 @s.i5. 41?'9‘ i F T 'log 29 . Wbt 956
@) 30 Gs.i5. %ﬂ[ o . /ﬁlﬁ’f?? :
() e Qgrﬂmﬂ]s‘uww K} L ﬁgﬁ-’ c \ n/w SR ¢
’ ; T e
w2 M %y S5 (Turn over

T e
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. s ich cannot be the value of
174, G:ay:1b of thoe ﬁ}”()Wlll;r answers which « ) fl[",:
y respectively E
' (B) 3, 30 |
(&) 9,10 _ .y |
©) 2 45 (D) 10, 10
(E) Answer not known
6:x:y:15 Spssngyd oL safld arpp el XSG, Y mem_l
ALGTTA "-_é'_ q ..& le—
(C) 2,45 | ®) 10,10 ,.él. m
(E) e QsfNweildrana _ ¥
e %
175. Selvan saves Rs. 5,000 every 3 months. How many years will it take for
him to save Rs. 1,50,0007 |
(A) 90 years ‘
(B) 7% years
- (C) 9years
(D) 30 years
(E) Answer_not known
Qedeusr 5,000
Goon apmmer oD LTEABSE 60 e GosApnr aao 5.1,500008
(A) QOGU(!BI_rE‘.Jmsh ' | 11-43 = )2 -;) g’DOOWi,:
' : . o000~
® 7% QU(HLEIGGT (} i’;oz::
o’ Q;oo 2
© 9 g | Seoo = 22 petor
_ i v
D) 30 s - con Sgd BT e
. | ot
(E) eferi Qsfueharana g _ {0
| .E03GS/2022 _ | & :
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177.

T

(A)
(B)
(©)
(D)
(E)

Prime numbeyg
Even integers

Odd integers

Answer not known

. the H.C.F. of
176. If _ oF tWo numbers jq 1 then the numbers are called
Co prime numbeyg

@ cransafler 8.Qur.ey. WAL 1 erafler icuail(n TRTEDET SADPEGSD PDD

(&)
()
©)

D)
(E)

FNTLUST GTRTSET
UG GTETS 6T
@Il eTergeT
QHenm eTEET&eT

aflen Qs flwelcrenc

The ratio of the cost price and the selling price is 4 : 5. The profit percent

(A)
(B)

- (C)

D)
(E)

10%
20%
25%
30%

Answer not knowrl

e Qummefler cumEiSw fene wHmd elpw elea 4 : 5 e alzs50 o ararar.

aafler @eoru &g;@fgtﬂ STENE

(&)
(B)
P
(D)
(E)

10%
20%
25%
30%

e AgMweildame

~ (02 " p¥ ju%
Lo _/SO - 1o 7
o8 o
,‘2’— ¥ (¢ Y-S
e L.y lee
- A
69 | E03GS/2022
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178.

179.

E03G512022 _ | i

(©) @ 85.7, @ 87.5

A family went to a hotel : and spent Rs. 350 for the food and paid 5% GST ‘

extra. Calculate the C (8T and SGST,
(B) Rs. 8.75, Rs. 8.75

(A) Rs. 87.5, Rs. 85.7
(D) Rs. 7.85, Rs. 7.85

(C) Rs. 85.7, Rs. 87.5
(E) Answer not known

Q@ GOLUD e araussdDEE s earassts m. 350 Gewal Calig ampsonss
sr6@ LHmd Gewer aflums 5% @&ng,gmrrrrasm erafled HHw mmgum mrrrrﬂm

576 Gsaneu auflenws sam&S (H5. g "TS"
(A) 5. 87.5, . 85.7 (B @ 8.75, . 8.75 g,jfg
. =

,\((D)Q5785@785 3

(E) el Gsflweferena AR A

In an examination 35% of the students passed and 455 falled How many
students appeared for the Examination? -

(A) 490

(B) 700

(C) 845

(D) 1300 |
(E) Answer not known

@@ Coitelled o drar Quwrss wramauisafd 35% Cui Gg;rr&él Qummeurra;m GLogyd
455 Gurr Ggiréd) G]u,mrrgsurr&m arafléd Gairay Gr@ﬁu Lo et e T el 6ot sremcuoﬂasma

(A) 490 le . = 45T
", 700 oD = 9 :

(C) 845 0 S
5 2990, | Tee M B syss
(E) o9er AsNweddenay | IID'P

"

¥l
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181.

rr

(A)
(B)
(©)
(D)
(E)

180, Barr body is

Activated X’ o
(.l'l)‘()ll](l.'i(ll]‘l(‘

Inactivated golgi Comple
ex

Inactivated X’
. (»hr(}]no
SOme

Inactivated dlctyOSom
Answer not known

uit 2-QIUY eTeTLg,)

(A)
(B)
(@)
D)
(E)

)
®)
©
D)

(E) Answer not known

B Aevwseflar  ppomer

Gswe Bleneufe 2 @rerr ;X’ &CrrCuwnCsmib
CewduLTs Cardens; Sl (f) @un@m
qu_lsouurg, X &CrmCurCsn

CEwOULTE 1980 CurCsemp .

aflen Gsfluelcvenay

Nektonic
Planktonic
Benthic

Thermic “

Sjeprim ?

(4)
(B)
(C)
(D)
(E)

Op&sGLreaflé
QermaiGLraflé
Quenbds

Qsrblé

aflenL Ggrﬂmﬁ]@“"“

71

How do you call the organisms inhabit the bottom of the aquatic'bodies‘?

g@&gL@&aﬂeﬁ ar 2 uwlflerbsmer asﬁmr@]

E03GS/2022
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. i
gtated that the properties of elements are & P rlodlcl
yvie numbers.

&

w
Lo

1
function of aton

(A) Rang

(B) Werner

(©) Mendeleef

(D) Mosley

(E) Answer not known
g@ﬂmrma;aﬂsér LT &6T u:arr_i:)gntb QeuduTh BT N aramaans QuInSs
QmESD erend gadweur

(A) Grms

(B) Qeurrt

(C) Queiradi

(®) GuravCea

(E) oo Qsflwedema

183. The minimum possible temperature beyond which matter cannot be

cooled 1s
(A) —100°C : . B (B) 0°C
e ke D) -500°C

(E) Answer not known

@ Qurmeer @@ @GOG GleuuuﬁsmuS@ 8p geflirelss wmeuss (Pig WG
2ips Qeuliuflene

(A) -100°C - (B) 0°C
(C) -273°C (D) -500°C

(E) el Qsflweddana

A

EO03GS/2022 - ;
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yad
LS

The motto of “Satyv.
Che F"Satyameyy

—————— 8Cript,
) Khavosthi
(B)  Brahmi
() Devanagiri
D) Arvamaic
(E)  Answer not knowp

sdwluar ARUGs' erer ‘
D “eu )
@\%uuL@mm@ n‘u.nanm(ﬁu_; Gleucbgyid’

) sCrragd

(B) Qo

(@) Cseuprd

(D) =Qris

(E) e Qsflueldeame

The Sahitya Akademi has recognised
&) 13 (B) 15
C) 17 (D) 24

(E) Answer not known

srdsw @ismf)
(4) 13
€) 17
() efenL QsMweiiaa

(B) 15
D) 24

73

Jayage® “'vuth alone Triumphs” was written in

T(sE  auigalld

Indian languages.

@nglwu Gmrng@a;snm 2tds Mg creng).

EO3GS/2022
[Turn over
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r ngsembled indigenously undey,

of the first super compute
mission |

186. The name
; ‘ e
national super computing

(A)  Param Agni (B) Param Shivay

() Param Vidwan (D) Param Swayam
(E) Answer not known |
Guur saflsepep Weger Ui 2 ehMig Calw g,mnrﬂé;a;uul;L_ Guurr saflaflie
Quuwiit eremer ? | |

A) ugbd sisaf . | (B) upb HGau

(©) um aﬂgm&eh - | (D) LD GoeUUILD .

(E) afen Qgflwaicrencw

187. Which drganisation launched thé séhooi“education quality index?
(A) NGO Pratham
(B) NITI Aayog
(C) HRD Ministry
(D) None of the above

(E) Answer not known

uetels s0eds 576 GRS L SHWsULESEU Sewiiy g ?
(A) NGO Ggsiv | |
'(i3) NITI < Guins
(€) wails euer CubLT () eewsasd
(D) Cupsmdluee ageb Gdae |
(E) | eflen_ Qg Mweferena |

E03GS/2022 » S | c

“
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155

T

e four segment of t} '
Tb | ® golden quadrilateral join the following cities :

) Delhi — Mumbaj
@) Mumbai — Chenngj
3 Chennai — Kolkatg
4) Kolkata — Delhj

Consider the length of the above segments in descending order and

select the correct answer using the code given below :

@ 6, @, O, ©®
® ©), @, @,
© @, 3, @,
0 @, (), @), @
(

)
)

E) Answer not known

ghs BIH&T sTenesaier preng Neysd Epsar . parhamer Qoa@sang :

(1) QLéel — apbers
(2) @weu - Cgerenar
- (3) Qgerear — Q&TO&SST

@) Qanwssst — QLae -

CuCe oarar GAaysallar Sersms @phg af@slsd spsle Cstan@ &Gy
QsrRssriur_Herer @mui el uwaru®sd eflwrear ufloe CsrbosHEsLD :

@ @), @, 0,
®) @), @, @, 0
© @,),@, O
® @, @), @, @

(E) e QsMweieene

E03GS/2022
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- tement is not correct?
lowing sta orrect :

1ich one of the fol -
k in India

ghest pea
highest waterfall in India

189. Wi
(A) K2i1s the hig
(B) dJog waterfall 15 the

(C) Cherr apunji 18 the We
(D) Deccan Plateau 18 the
(E) Answer not known

ttest place 1 in India

largest Plateau in India

S emeu(peuaTeDDIET. sauprar & D0 TSl ?

(A) ;f,]u.;rraﬁ]@a)@u_l o WIFLDTET fayn K2 D@D <

(B) @pgﬁlmeﬁ]w o wiwnar Brefipssl CRms bialipss 24D
N (®) eﬂi;rq@eﬂ @m@mmﬁ]@cﬂ@m FELO e U@.é_ﬂu_lrr@m P

(D) @@é]u_]gg)ﬁ]@@@u_r Nesr@uilw Sy séameanr SLulwm@b
(E) ofen. Osfluafivaa | | -

190. Which religious leader bound social harmony Jainism and Brahmanism

(&) Appar
(B) Hemachandra
| (C) Ramanujar
(D) Sampandar
(E) Answer not known

TS 5Lou_|§,‘e_5mw6u_rr FaSH D& Lb, 'ngnmmﬂu_lg.é';lﬂ)@m é@a; @m$$§§]mﬁ

&([r;mrrasaﬂmrrrr?
(CVRRET,
(B) @Qﬂ)maag'@gn
(@) @rrongymi
(D) sbupsiT
(E) cflerl Q5Mueldane

%Y

£03GS/2022 i
‘ : - - 76
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191. The term ‘aima’ meap

192.

rr

(A)
(B)
(C)
D)
(E)

Prostration to the Emper
- or

Kissing the Groung

Four Salutationg

Lands do
> donated to the purpose of prayer to God
Answer not known

‘T eTenim Qamed TS Ghlsdenng 2

(A)
(B)
(€
D)
(E)

LOGHTERTIT (Lpedr msﬁmuq;uﬂ@gd, '

fasdle Wwss0@ps0

lgrra':rr@ GL 60T & & 1B & 6T

sLaeT uPluT’ Hée REI&EHLIUHID [_ﬂ&)ﬂ)
e Cgflweldena

Nicolo Conti and Abdur Razzaq visited India during the reign of -

(A)
(B)
©€)
D)
(E)

Qibdwmellev, ﬁlé;@arr@sun sy HOID SLIGIT TEOTE —

Cholas

Pandyas
Vijayanagar rulers
Bahmani Sultans

Answer not known
< fullenr Cumrg

aumesyfbgsert

(A4)
(B)
©)

(I9)
(E)

Cemplisdr

LI TeRTlg W T& 6T
Agupsi ATFTEET
urSlefl sosmaTEeT
eflenL Glgrﬂmaﬂs‘uemw :

77 E03GS/2022
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one of the statement is correct regarding the Indus Valley

193. Which
Civilization? |

(1)
(2)
(3)
(4)
(A)
(B)
(©)
D)
()

There was a strong centralized Government

Each lane had a lamp post at cutervels
Dust-bin were also provided in the streets
Quarters of rich and poor were found

(1), (2) is correct (3), (4) are incorrect
(1), (8) is correct (2), (4) are incorrect
(1), (2), (3) are correct (4) 1s incorrect
All are correct

Answer not known

fibgl swQeuel prafssms upPHlu sappseier sflwreang erg)?

ke
@)
®)
@
A)
()
®

(D)
(®)

EO3GS/2022 | : 78

uIeUTar WSS HT&

@euQaumm Qgmallaud Cgm edleTéGsaT

Qsmesaile @liemu Qs @b HHSS!

LGRTESTTT LDHMILD 6T 6nLP&(ETh&EHTeT @quﬂ@qum sreTlILBH &g
(1), (2) weEw &, (3), (4) seuprars

(1), 3) wifw &, (2), (4) saupreng)

(1), (2), (3) wr G &M, (4) LLEL g,sum‘rreﬂgu

SADETEF| D 5rﬂurrea+g

ellen Qsfwefdrena
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194

T

Match the following .

() Central Bureay of Investigation

(b) Central Vigilance Commission
(¢ First Lokpal Bi]] Introduced jp
Lok Sabha ‘

() All India Service (Conduct) Rule

@ () (o @
@1 2 3 4
(B) 2 1 4 g
©3 2 1 4
(D) 1 8" 25 4
(E) Answef not known
Spaupeuaneupenn QUTBSHS :
I(a) S Yeermies Giley
b) wsHw semsTEiILIL Qy@maTib
() s CaomsLmed cuamye]

Carssurailed SDlepsd

(d) <do @iy Gsamas (BLsDS) RIS

@ ® @©@ @
4) 1 2 3 4
(B) 2 1 4 3
@s 2 1. 4
M1 g & . 4

(E)  efeni G]g,;ﬂum&'lsbmm

79

1968
1964
1963

1954

. 1968

1964 -
1963

1954

EO03GS/2022
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195. The Prime Ministc

()
(B)
(©)
‘(I )
(1)

4 of India is appointed by

The Governor
The Speaker
The President

The Klection commissioner

Answer not known

QiRw Grswe fluoeid Qeliueulr

(&)
(B)
(©)
(D)
(E)

<2EHHT

FUMBTWST

SlqWI&HES g;emeueufr 5
Ciigd penammuit
cflen Gsflwedldena

196. Which of the following countries is the first ever to incorporate the
Directive Principles of State policy as part of their constitution?

(A)
(B)
(©)
D)
()

Ireland

America

India

Spéin '

Answer not known |

2] Qg,,r_ﬁ]@mp Gam_umyenar Gereumd BrhHsafle ﬁé] @g,ﬁh@pg,(ﬂd} SIS
Sirflueamniqd Corggs Qaram gl ?

(4)
(B)
(©)
(D)
(E)

AT,
@L'B;ﬂu_irr .
e G LUl e

eflen QsAwefdane

4 _EO3GSI2022 s

-
-

|
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191-

~
E

‘v_ - S E= B W= W WS W o ——

- Match the List T witp
codes given below -

List I
State

(a) Maharashtra
(b) Bihar

(c) West Bengal
(d) Andhra Pradesh

@ (b (© (@

A) 3 4 | 2
(B) 3 1 4 2 "
(C) 3 2 1 4
(D) 1 3 4 2

(E) Answer not known

Ll o o

List 11 and select the correct answer using the

List IT

Size of population (persons)
as per 2011 census

104,099,452
84,580,777
112,374,333
91,276,115

utgwe I wpmod II - @ Qurmsd &Gy Gsr@éstul erer sflurar aflaew

Corey G :
ulgwe I

LDrT‘I'_F)]GULb’

(@) wsmyTeHL_FT

b) Ssrir

() GupeE eumsbd
(d) <y LS]IIGQ&Lb

@ @ @ @
4) 3 4 1
B) 3 1 4
€) 3 g 1
L) 1 3 4

) e Qpfucidems

S G G

=

+ 81

ugwed IT

2011 <yib &H WwéEseT QTS
sasQa@Udeanuly was CAgransweare) .
(BUTSET)

104,099,452
84,580,777
112,374,333
91,276,115

EO3GS/2022
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wore of disinvest - receipts is set for
198. Target of Rs. 1.05,000 Crore of disinvestment recel] Lh“.;
financial year
(B) 2018 2019

(A 20172018
(D) 2020 — 2021

(©) 2019 - 2020
(E) Answer not known

WSS PEs@UILY QT QTEIBEHSES RS wrariq e b 1,05,000 Gamg,
Qo&E Hlireorufésiur B eTars!- .
2018 — 2019

2020 — 2021

(A) 2017 - 2018 (B)
(C) 2019 —2020 (D)
(E) oo Qsflucid@e

199. The model adopted in the second five year plan was

(A) Harod — Domar Model

(B) Kaldor model
(C) Meade’s model
(D) Mahalanobis model

(E) Answer not known

@Qren_reug pbsTeTH HLEHD 2 (heumssrLCL IS
(A) angr® — Gmwomr wrd

(B) sroLmt wrd

(C) B wrdf |

(D) wapwGrmiey wIHM

(E) oflenr Glg,rﬂu_lsﬁl@.msu

EQSGSI2022 : - 89
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200.

Tr

Match-the List T with List 11 t wer using the
: I € select the correct ans
codes given below and selec

According to 2011 census, the literacy levels in the states are .

List I List IT
State Literacy level (%)
(a) Kerala 1. 93.99%
) Tamil Nadu 2. 75.36%
(¢) Karnataka 3. 67.02%
) Andhra Pradesh 4.

80.09%

@ .0 © @
A 1 2 3 4
B) 1 1 2 3
C) 1 2 4 3
D) 1 3 2 4
(E) Answer not known , |
urigwe I wppd utgwe II g Qurmsd ECp Cdsr@ssuUL
o eow Csie] Gews :
2011 wssL AsTess sarss@Udern Ly Ugssal AGsDTET esaildlsssled o drar
wrflongmer auilesliL@ssl

(eTeT sflwmer

ucigwe I ucqwe IT

orfleon awsshay oisn (%)
(a) Gayerm 1. 93.99%
b) sOPETEH 2. 175.36%
(©) siBTLsT 3. 67.02%
d <sH7drGssd 4. 80.09%

@ @O © @
A 1 . 3 4
(B) 1 4 2 3
© 1 9 4 3
1 3 2 4
(E) e Qpflweicrene .

SR SOV
g E03GS/2022
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